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SUMMATIVE ASSESSMENT - 11, 2016-17
MATHEMATICS

Class - X

Time Allowed: 3 hours Maximum Marks: 90
General Instructions:

1. All questions are compulsory.
2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A compriscs of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each: Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.
1 There is no overall choice in this question paper.
s Use of calculator is not permitted.
SECTION-A
Question numbers 1 to 4 carry one mark each
If x=1 is a common root of quadratic equations ax?+ ax+3=0 and 12+ y+b=0, then find ab, 1
Find the angle of elevation of the top of a15 m high tower at a point 15 m away from the base 1
of the tower.

Find the pmbnbili!y of gelting at least 3 when a die is thrown once. 1
The mid-point of the line segment joining {13'::] and (-2, 2b} is (1, 2a+1). Find the value ofa. 1
SECTION-B

Question numbers 5 to 10 carry two marks each.
The angles of 3 guadrilateral are in AP, whose common difference is 10°. Find the angles.

2
find 'k’ so that the quadratic equation (k+ 1) »2 =2 (k+1) ¥+ 1=:0 has equal roots. 2
g 2
5 T
@]
In the figura, PQLis a dlameter and PT, a tangent of the circle with centre 0. If Q0S5 = 150°, find ZPTS
Draw a line segment of tength 7.8 cm and divide it inthe ratio 5 ; 8. Measure the two parts. 2
Two cancentric circles are such that a chord of the larger circle touches the smaller circle of radlus 5 2
¢m. if the chord s of length 24 cm, find the radius of the longer circle,
A pendulum |s swinging through an angle of 30° and describlng an arc of length 8.8 em. Find the 2

22
lenpth of the pendulum. (Use 7= ~?—'|

A 8

SECTION-C
Question numbers 11 to 20 carry three marks each.

if sum of first 6 terms of an AP s 36 and that of the first 1€ terms is 256, find the sum of first 10 terms, 3

o
Find the roots of equation —— + ——= # -1, -2, — 4 by using the quadratic formula
1+1 x+2 x+4
Draw a circle of radius 4 cm. Draw two tangents ta it inclined at 32 angle of 457 ta each other. 3
A ladder is leaning against @ wall of a house such that its upper end Is touching the top of the wall. 3
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from the wall and the ladder 15 making an angle of

L]

way 60" with 11
The foot of the ladder 5 2 1.Irl"n:Ig!'"l: of the walk Also, find the length of the ladder

level of the ground. Fin thrhw'* of a cub® with one letter/ number written on each face a5

A chiid has a block In e 3

below - 5] =] [I’]" [c]

1 pability of getting
he pro
The cube ls thrown 0CE: 2 (8)  Anumber
A} BorC {o)
' he verti
o (3, —2) and C(— 3, 8 3re FEEITCEs ol tdangle ABC, find the length of the median

tHown

& consonant

3
through A on BC. R ~13) divide o
find the rato in which the point (6, A # the line: segment Jaining the points {4, —5) and 3
{2, - 11} in diamot .
Find the number of plates, 15 €t I o and 0.2 em thick that can be fitted completely 3
inside a right circular cylinder of heig I M and diameter 4.5 em_ :

. ve

Find the area of the shaded region of the V&N figure, where ABCD 15 4 square of side 7 cm and sectars 3
of radius 2.1 em each are drawn at jts four vertices. {Use = = E.’l

A medicine eapsule is in the form of a eylinder with two hemispherical ends. The radius of 3
t;;Jcnrrsule i5 3.5 mm and lenpth of the capsule is 12 mm. Find its total surface area. (Use =
7

SECTION-D

Quﬁﬁﬁﬂ'l'l. n“mh@ﬂ 21 to 13 Eﬂ_‘l."l'}r four marks each.

Find the sum of first 30 terms of an AP whose n™termis 2 + 1“ :
A passenger 1ral
from i :Isua\ :ﬁ:::"ﬁihﬂuﬁ less for a journey of 300 km, it ts speed is increased by 5 km/hour
) - Flnd Its usual speed
Inan AP ifa = 4 4=2, S = ~14, find n and a.
Prove that the length

5 of tangents drawn ir P
Om an he circle are equal.
Construat a Adpe In whic s anexternal point tot q

BC=5.5 cm and CA=6 em, Construct another triangle whose sides
e —
3 mies the CorTesponding sides ol Arpr
A straight RIghway teads loth
st angle of deprpasie,
noof 307

seconds later, e angle of E"""h":h "y
taken by the carig {51

25 cardy murnbered
draws a

€ 1001 0l a tower, A man standing at the top of the tower abserves a car

PRroaching to the foot of the tower with a uniform speed. Six

epTession of te ol pie | to be 60°. How much more time will be
ththe fao of the Lower?

1. :-3' 5 2-'1 L)
card from i oo £3.05 are put in a box and mixed thoroughly. One | n
(A *ven. '@ box. Find the Pro

bability that the number on the card is
(€} ciwsible by g, B) 2 prime.
ABCD s 3 guadrilaters) Wt vardices & D) divisible by 3 and 7 both, .,
LOUAre o 3 rhombus, 3o, find irs arell, 0}, B4, 5y, C{-1, 4) and D(=2, —=1). Check whether it ls a
Floor of a room is of dim -

cm fach as shown in
==314)

ensi 5 i
Hgure ml'lifr..dm:Mt mand it is covered with circular tiles of diameters 50
: the area of Mloor that remains uncovered with tiles. (Use

Page 2 of 3

Scanned by CamScanner

AN



i1

¢ 3
/0,000

©
¢
LK)
'9.0.0!
X0

e o e T T T T W T T
D OO0 +.+=+.+.*:
oot 4.*!

90090
s
000
Sttt
290009
000008
6'8/0/000,0
XX ':* X

8
oes 00000

A container made of a metal sheet is in the form of a frustum of a cone of height 12 cm with 4
radii of lower and upper ends 3 em and 12 em respectively. Find the cost of the metal sheet

2
used, if it costs ¥ 7 per 100 em?, (Use w= El )

( Josed

Students of & class, when given the lask of model making, made the model in the shape of 2 4

cm’-«."“*lﬂ)

right eircular eylinder with a cone on the ene end. The height and radius of the cvhindrical
part were Liken as 13cm and Sem respectively. The radius of conical and cylindrical parts was
same, Calculate the nurved surlace area of the model, if height of the cone was 12cm. The
students used old newspapers to make this model and then painted it in different colours.

What values of students are depicted here?

Semd
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